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Angles on a straight line and Z angles
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Work out the missing angle
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Calculate the value of each lettered angle


Calculate the missing angles 


Angles in shapes
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Work out the missing angle



Calculate the interior and exterior angles of the following shapes.

1. A hexagon

2. A nonagon (9 sides)

3. A regular 12 sided shape

4. A regular 20 sided shape

Complete the following questions

1. [image: image17.png]ABCDE is a regular pentagon.
Line BF is a line of symmetry.
) What s the size of angle x?
) Calculate the sizes of angles y and 2.




 

2. [image: image18.png]ABCDEFGH is a regular octagon.

CG is a line of symmetry.
Calculate the sizes of angles p, ¢, 7, s and 1.




Area, Perimeter and Volume
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Find the area and perimeter of each of these shapes


	1. [image: image25.png]



	4. 
[image: image26.png]8m|

9m





	2. 
[image: image27.png]4m

3m

6m




	5.                    
[image: image28.png]




	3. 
[image: image29.png]7cm




	6.              
[image: image30.png]




	
	


Find the volume of each of these shapes


Complete the following questions

1.  A cardboard box is in the shape of a cuboid measuring 6cm by 12 cm by 15cm. Calculate its volume.

2. A trench 0.7m wide by 1.2m deep and 20 metres long is dug on a building site. Calculate the amount of earth removed. 

3. A water tank, in the shape of an open cuboid, has a measuring 50cm by 60cm and a height of 30cm. How many litres of water will it hold?

4. A swimming pool is 0.8m deep at the shallow end and 2m deep at the other end. If its length is 25m and its width is 10m, calculate its capacity in litres.
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Area and circumference of circles
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Find the Area and circumference of these circles. 


Find the area of  these shapes
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Complete these questions

1. A car wheel has a diameter of 50cm. How far wil the car travel if the wheel turns 5 times?

2. If the same car wheel turns 500 times, find the distance travelled correct to the nearest metre.

3. A hose pipe is stored by winding it around a drum of diameter 70cms. If it makes 12 turns, how long is the hose correct to the nearest metre?

4. Find the volume of these shapes.

a) [image: image44.png]12cm
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Transformations

[image: image48.png]Translations
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Enlargements

[image: image51.png]1) The diagram shows a rectangle A, B, C, D.
Copy this diagram and enlarge it by a scale factor of 2 through the point (0,0)





[image: image52.png]2) The diagram shows a triangle A, B, C.
Copy this diagram and enlarge it by a scale factor of 3 through the point (0,0





Geometry Past paper questions

Jun 12 paper 1 [image: image53.png]2 The diagram shows a patio in the shape of a rectangle.

Diagram NOT
Im accurately drawn

36m

‘The patio is 3.6m long and 3m wide.
Matthew is going to cover the patio with paving slabs
Each paving slab is a square of side 60 cm.

Matthew buys 32 of the paving slabs

(2) Does Matthew buy enough paving slabs to cover the patio?
You must show all your working.
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Jun 12 paper 1
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‘The diagram shows a parallelogram.
The sizes of the angles, in degrees, are

Diagram NOT
accurately drawn

2
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2624

‘Work out the value of x.




Jun 12 paper 1[image: image56.png]13

Diagram NOT
accurately drawn

‘The diagram shows a regular hexagon and a regular octagon.

Calculate the size of the angle marked x.
Youmust show all your working.




Jun 12 paper 1
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Triangle ABC is drawn on a centimetre grid
A the point (2, 2).
B is the point (6, 2).
Cis the point (5, 5).
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‘Work out the area of triangle POR.




Jun 12 paper 2

[image: image58.png]Diagram NOT
accurately drawn

ABC and DEF are parallel lines.
BEG is a straight line.
Angle GEF = 47°.

Work out the size of the angle marked x.
Give reasons for your answer.




Jun 12 paper 2

[image: image59.png]'S Mr Weavers garden s in the shape of a rectangle.
In the garden
there is a patio in the shape of a rectangle
and two ponds in the shape of circles with diameter 3.8 m.

The rest of the garden is grass.

-«

—
28m

Mr Weaver is going to spread fertiliser over all the grass.
One box of fertliser will cover 25 m* of grass.

How many boxes of feriliser does Mr Weaver need?
You must show your working.




Jun 12 paper 2
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(a) Rotate triangle A 90° clockwise, centre O.
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(b) Enlarge triangle B by scale factor 3, centre (1, 2).




Nov 12 paper 1
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Describe fully the single transformation that maps shape P onto shape Q.




Nov 12 paper 1

[image: image63.png]7 Here is a diagram of Jim’s garden.

Diagram NOT

12m accurately drawn

9m

18m

Jim wants to cover his garden with grass seed to make a lawn.

Grass seed is sold in bags.
‘There i enough grass seed in cach bag to cover 20 m? of garden.

Each bag of grass seed costs £4.99

Work out the least cost of putting grass seed on Jim’s garden.
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‘Work out the volume of the prism.




Nov 12 paper 1

[image: image65.png]12 The diagram shows a circle drawn inside a square.

i
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‘The circle has a radius of 6 cm.
‘The square has a side of length 12 cm.

12cm

Work out the shaded arca.
Give your answer in terms of 7.

Diagram NOT
aceurately drawn




[image: image66.png]16 The diagram shows a triangle.

Diagram NOT

341 accurately drawn

3x

In the diagram, all the measurements are in metres.

‘The perimeter of the triangle is 56 m.
The area of the triangle is A m?.

‘Work out the value of A.




Nov 12 paper 1

[image: image67.png]18 The diagram shows part of a pattern made from tiles.

Diagram NOT
accurately drawn

‘The pattem is made from two types of tiles, tile A and tile B.
Both tile A and tile B are regular polygons.
Work out the number of sides tile A has.
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